
Soustraction Horizontale de Décimaux (I)

Calculez chaque différence.

986,741 − 8,946 = 6,6 − 2,7 =

968,819 − 27,5 = 803,355 − 3,693 =

470,44 − 4,56 = 775,83 − 9,3 =

406,370 − 6,82 = 17,406 − 8,65 =

380,83 − 28,002 = 23,41 − 3,34 =

285,563 − 47,971 = 7,88 − 2,111 =

198,788 − 6,04 = 766,94 − 7,7 =

903,71 − 84,711 = 9,66 − 1,217 =

312,2 − 3,32 = 617,567 − 8,756 =

886,6 − 247,088 = 480,78 − 378,72 =
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Soustraction Horizontale de Décimaux (I) Réponses

Calculez chaque différence.

986,741 − 8,946 = 977,795 6,6 − 2,7 = 3,9

968,819 − 27,5 = 941,319 803,355 − 3,693 = 799,662

470,44 − 4,56 = 465,88 775,83 − 9,3 = 766,53

406,370 − 6,82 = 399,55 17,406 − 8,65 = 8,756

380,83 − 28,002 = 352,828 23,41 − 3,34 = 20,07

285,563 − 47,971 = 237,592 7,88 − 2,111 = 5,769

198,788 − 6,04 = 192,748 766,94 − 7,7 = 759,24

903,71 − 84,711 = 818,999 9,66 − 1,217 = 8,443

312,2 − 3,32 = 308,88 617,567 − 8,756 = 608,811

886,6 − 247,088 = 639,512 480,78 − 378,72 = 102,06
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